. T = o = g =
I & - # B iR % 1 = RETH = | B4 B &
tHkEIR
1. 1 £
S;ET
1. 1 £
SETHZT
1. 1 £
I MU TA77 0 MERZERR. t=15ecmEA TR 110.0
110. 110 m
SHEMREE R VRAE) (72770 MEEZERR. t=5cm MEtE=LY 448 7
448, 449 m2
FROE M AS7% 448. 7x0. 05=22. 4
22. 22| m3
A5y AS7% 22.4
22. 22| m3
TREEIE BEME. RERZERT M-30) BEFEE LY 4487
t=F1J3cm 448, 449 m2
=E BAEZHEAS(13) W=1.4mLLE3.OmLLF |BEFTEE XY 448.7
t=bcm 448, 449 m2
XE#RT
1. 1 £
XE#RT
1. 1 £
B X E R Az, ¢ 77 345em, 2.1
t=1. bmm, 44t A X . BEK L LISt 2. 2| m
B X E AR Bpn. XEN-5E5 - XF 15emiftHE FrEMEMEER  (18. 64+33. 02+15. 58) *1. 2=80. 7 BEIEER L=67. 24m
t=1. bmm, 4t A X . BEK L LIS 80. 81 m
& T
1. 1 £
RBEEET
1. 1 £
RBEFEZRE RBFEZHEEB

o




# = &t =} i
SRR NRIR) TREEEIE =RIE
B S |XMEEEHE| R B | FH (T B|RERE|TFH[(FE B BT B |FE R
g 8§ g 8 E B
0+ 00 4.10 4.10 4.10
0+ 20.0 20.0 4.10 4.10 82.0 4.10 4.10 82.0 4.10 4.10 82.0
0+ 40.0 20.0 4.10 4.10 82.0 4.10 4.10 82.0 4.10 4.10 82.0
0+ 60.0 20.0 4.10 4.10 82.0 4.10 4.10 82.0 4.10 4.10 82.0
0+ 80.0 20.0 4.25 4.18 83.6 4.25 4.18 83.6 4.25 4.18 83.6
1+ 00 20.0 4.05 4.15 83.0 4.05 4.15 83.0 4.05 4.15 83.0
1+ 10.0 10.0 3.90 3.98 39.8 3.90 3.98 39.8 3.90 3.98 39.8
19— MERR ) 3.7 3.7 3.7
N E 110.0 448.7 448.7 448.7
a & 110.0 448.7 448.7 448.7




